Easy Word Problems-4

There are 36 cards in a box. Rob
takes 13 cards. How many are left?

There are 19 pens in a bag. Rob
takes 13 pens. How many are left?

There are 17 shirts in a closet. Larry
takes 9 shirts. How many are left?

There are 15 flowers in a vase. Ron
takes 8 flowers. How many are left?

Mary weighs 50 pounds. Pat weighs 25
pounds. How much heavier is Mary than
Pat?

Liz has 24 erasers. She shares 11 with
Mary. How many erasers will Liz have?

Kate removes 44 crayons from a box. There
were originally 84 crayons in the box. How
many crayons are left in the box?

Leila has 16 rings. She shares 5 with
Carry. How many rings will Leila have?

Mel removes 60 candies from a jar.
There were originally 71 candies in the
jar. How many candies are left in the
jar?
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